P 2L d https://lwww.pass2lead.com/a2090-303.html
ass ea 2024 Latest pass2lead A2090-303 PDF and VCE dumps Download
https://Pass2Lead.com

A2090-303%4As

Assessment: IBM InfoSphere DataStage v9.1 Assessment

Pass IBM A2090-303 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.pass2lead.com/a2090-303.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

A2090-303 PDF Dumps | A2090-303 VCE Dumps | A2090-303 Braindumps 1/3


https://www.pass2lead.com/a2090-303.html
https://www.pass2lead.com/a2090-303.html
https://www.pass2lead.com/a2090-303.html

P 2 L d https://lwww.pass2lead.com/a2090-303.html
aSS ea 2024 Latest pass2lead A2090-303 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

What role must a user have to delete shared metadata assets from the repository?
A. DataStage Administrator

B. Business Glossary Administrator

C. Common Metadata Administrator

D. Information Analyzer Administrator

Correct Answer: C

QUESTION 2

Which derivations are executed last in the Transformer stage?
A. Input column derivations

B. Loop variable derivations

C. Output column derivations

D. Stage variable derivations

Correct Answer: C

QUESTION 3

Your job sequence must be restartable. It runs Jobl, Job2, and Job3 serially. It has been compiled with "Add
checkpoints so sequence is restartable”. Job1l must execute every run even after a failure. Which two properties must
be selected to ensure that Jobl is run each time, even after a failure? (Choose two.)

A. Set the Job1l Activity stage to "Do not checkpoint run”.

B. Set trigger on the Job1 Activity stage to "Unconditional”.

C. In the Jobl Activity stage set the Execution action to "Run".

D. In the Jobl Activity stage set the Execution action to "Reset if required, then run".

E. Use the Nested Condition Activity with a trigger leading to Job1; set the trigger expression type to "Unconditional”.

Correct Answer: AD

QUESTION 4

Which job log message heading identifies the score in the job log?
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A. OSH script ...

B. main_program: orchgeneral: loaded

C. main_program: Broadcasting score.

D. main_program: This step has 3 datasets: ...

Correct Answer: D

QUESTION 5

Suppose a user ID has been created with DataStage and QualityStage component authorization. Which client
application would be used to give that user ID DataStage Developer permission?

A. DataStage Director client

B. DataStage Designer client

C. DataStage Administrator client

D. Information Server Web Console Administrator client

Correct Answer: C
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